KISHIISHFHR/ N/ DR MR R U R RIAR TR 2843 ARE
KRER S54 R 3 2,946 IR = H16 0.45 — H19 0.71 —
KRER S53 R 3 1,003 IR = H16 0.37 — H19 0.82 —
BIE— IR REH H25 R 2 2,696 | #HME — — — — — — BRIk YHE
KRER H25 R 2 9% | #HWE — — — — — — ERICKYHE
BiAE S51 R 2 1,437 Bt E H16 0.09 0.28 H19 0.78 1.27
KRER S49 R 3 2,276 IR = H16 0.35 — H20 0.73 —
mIEZIMER BRER S49 R 3 3,435 IR = H16 0.49 — H20 0.72 —
B S49 s 1 955 | IBME H16 0.71 1.28 — — — ZHDERERTE
KRER s57 R 3 1,315 IR = H17 0. 61 — H24 0.88 —
KRER s57 R 3 2,120 | |BWE H17 0.66 — H24 0.84 —
HINE=NER KRER S57 R 3 1,714 Bt = H17 0. 60 — H24 0.82 —
KRER S63 R 3 572 | #WE — — — — — —
BIAE S57 R 2 1,191 it = — — — — — —
KRER H2 R 3 5,245 | #HWE — — — — — —
EILE 10N RER H25 R 3 879 | #HWE — — — — — — sk
BIAE H2 R 1 1,450 | HmE — — — — — —
KRER H9 R 3 5214 | #HWE — — — — — —
HINERPNER RER H24 R 3 1,194 = — — — — — — e
B H9 R 1 1,478 | #WtE — — — — — —
g BRER S53 R 2 1,638 | IAME H17 0.72 — — — — FHOERHERTE
IL\EIJ\%*;C
BiAE H7 R 1 1,025 | #iE — — — — — —
s BRER H1 R 3 2,489 | HME — — — — — —
AN BAE | H1 R i 102 | mwE || — _ _ _ — —
g BRER $54 R 2 2,324 | IBfE H17 0.80 — — — — BHOBRERTE
BRI B | H3 R 1 1,206 | #tE — — — — _ _
RN BRER S60 R 2 2,443 | #FWHE — — — — — —
BiAE H7 R 1 1,025 | #iE — — — — — —
s BER S6 1 R 3 3,469 | HME — — — — — —
R B | He R : 1292 | mwE | — _ _ _ — —
=N BRER H5 R 2 2,984 | FWE — — — — — —
Bk H2 R 1 1,043 | #WE — — — — — —
s BRER H6 R 2 3,698 | HMHE — — — — — —
HEINFR B | H25 s 1 1,00 | #wE — — — _ _ _
= A BRER S62 R 2 1,975 | #HE — — — — — —
B S63 S 1 798 | FWE — — — — — —
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N KRER H3 R 2 1,976 | #HWE — — — — — —
BiAE H5 R 1 1,025 | #mE — — — — — —
N BER H18 R 2 4,718 | HilE — — — — — —
KRN BiAE H17 s 1 1,229 | #HWE — — — — — —
B |\ BER H4 R 2 1,606 | #MEE — — — — — —
TERHIER BiAE H11 s 1 721 = — — — — — —
KRE®R S$43 R 3 2,872 | 1BMWE H16 0.41 — H19 0.73 —
ERRINER RER H1 R 3 2,536 | = — — — — — —
BiAE H7 R 2 1,488 | #WHE — — — — — —
KRER S45 R 4 3,11 B = H17 0.24 — H20 0.71 —
BEEE/NFR KER S52 R 4 1,146 1B = H17 0.45 — H20 0.85 —
=1L H25 s 1 1,143 | #HWE — — — — — —
s — s BER $60 R 2 2,002 [ #HWE — — — — — —
BRI Bkt H15 s 1 892 | #mE — — — — — —
KRER s37 R 2 1,207 | IBFE H18 0.48 — H22 0.71 —
BHIL/NER KER S55 R 3 4,061 IR = H18 0. 67 — H22 0.76 —
BIAE S57 R 1 1,030 | #HWE — — — — — —

BREE $38 R 2 626 | IBfifE H18 1.00 — — — — BHOERERTE
EBHBENFR KRER sS57 R 2 842 | #HWE — — — — — —
BiAE S51 RS 1 509 1B = H18 0.37 H20 0.70 2.31

BRER S39 R 2 608 BT = H18 1.00 — — — — DH DRERERTE
B/t RER S60 R 2 919 | #HWE — — — — — —

B S52 R 1 560 | IBME H18 1.43 — — — — D DR RERTE

BRER S39 R 2 626 BT = H18 1.00 — — — — DH DRFERERTE
FRIENER RER S59 R 3 942 | #HWE — — — — — —
B S44 S 1 397 | IBmE H18 0.17 0.52 H23 1.00 1.82
BRER S50 R 2 1,974 IR H18 0.63 — H23 0.72 —
AR RER S$63 R 2 429 | #HWE — — — — — —

BiAE S53 R 1 560 BT = H18 0.75 — — — — D DR RERTE
RER H3 R 3 3,489 | #HME — — — — — —
18T /N RER H3 R 3 501 R — — — — — —
Bk H3 R 1 1,731 = — — — — — —
BRER S39 R 2 834 | IHWE H15 0.27 — H19 0. 71 —
NEEINERR RER sS45 R 2 1,611 B = H15 0.68 — H19 0.72 —
BiRE S46 s 2 745 BT = H15 0.39 1.18 H19 0. 90 1.64
" BRER S48 R 2 1,656 IR 5= H17 0.55 — H21 0.77 —

BE/NER
BiRE S51 S 1 500 BT = H17 0.23 0.42 H21 0.79 1.43
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KRER S45 R 2 1,754 Bt E H14 0. 62 — H15 0.78 —
AR/ KRER H16 R 2 1,349 | #HWE — — — — — —
BiAE S55 s 2 830 IR = H17 0.31 0.96 H19 2.06 3.78
KRER S46 R 2 2,368 =)y H12 0.29 — H13 0.82 —
T KRER S59 R 2 545 |  FRTHE — — — — — —
KRER H17 R 2 408 | FWHE — — — — — —
BiAE S52 RS 1 826 1B = H17 0.27 1.18 H21 0.78 1.95
KRER S47 R 3 2,058 IR = H10 0.44 — H11 0.74 —
KENER KRER H21 R 2 700 | FHWE — — — — — —
BiAE H21 s 1 842 | FWE — — — — — —
KRER S45 R 3 3,878 | IHME H15 0.39 — H19 0.75 —
g BRER H2 R 3 1,458 | A= - — - — - —
mlmE B | Sse2 R 2 1,618 | #wtE — — — — — _
BIAE H26 R 1 400 | #HWE — — — — — —
KRER S49 R 3 2,369 B = H15 0.41 — H21 0.70 —
- I FE KRER S49 R 3 1,709 IR = H15 0.40 — H21 0.72 —
BiAE S50 R 2 1,379 | 1BWE H16 0.84 1.60 H21 0.72 1.44
BIAE H5 R 1 350 | HWE — — — — — — i
KRER S43 R 3 2,165 | |BME H15 0.25 — H17 0.86 —
[ BER S44 R 3 2,082 | IBE H15 0.33 — H17 0.71 —
i EH® | s4as RS 1 1191 | E#E | Hi15 | 0.20 0.54 H17 0.92 1,50
B H5 R 1 350 | FWE — — — — — — i
KRER H25 R 3 4,119 | #HWE — — — — — — ERICKYHE
BEHR H25 R 3 2,560 EE — — — — — — BRICKYHE
mINEPER RER H25 R 3 147 | #HE — — — — — — ERICKYHE
KRER H25 S 2 137 | #HiE — — — — — — ERICKYHE
B H25 S 2 1,501 = — — — — — — ERICKYHE
BRER H18 s 2 3,663 | FMWE — — — — — —
s BRER H18 S 2 1,638 | #MWE — — — — — —
Raldings BRER H18 s 2 2,628 | #FWHE — — — — — —
BiRE H18 S 1 1,586 | #fE — — — — — —
BRER S53 R 3 2,235 1B = H20 0.49 — H21 0.74 —
" BEH S53 R 3 1,394 BT = H20 0.71 — — — — PHOBEREARTE
ENTTESES 5o
BB S53 S 1 942 | |1BME H20 0.29 0.89 H21 1.21 2.21
B S55 S 1 350 | IBME H26 0.13 0.41 H27 1.09 1.98
BRER S50 R 3 2,903 1B = H8 0.49 — H10 0.99 —
EARARBER RER S60 R 2 583 | #WE — — — — — —
BiRE H17 R 2 2,044 | FHWE — — — — — —
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KRER S54 R 4 2,613 Bt E H16 0.34 — H20 0.75 —
KRER S54 R 5 2, 304 IR = H16 0.35 — H20 0.76 —
EEE R KRE®R S$S62 R 4 37 | wmE — — — — — —
BiAE H11 RS 1 1,711 = — — — — — —
BiAE H26 R 1 389 | EWE — — — — — —
KRER H8 R 4 6,213 | #HWE — — — — — —
s g BER H8 R 1 696 | FME — — — — — —
AR BA® | Hs8 s 2 3601 | HWE — — — — — _
BiAE H9 s 1 642 | FWE — — — — — — R
. BRER H18 R 2 4,146 | #HWE - — - — — —
WFER BAM | H18 s 2 213 | HWE — — — _ _ _
KRER s48 R 3 3,000 | IBME H17 0.54 — H19 0. 80 —
HR s KRER S49 R 3 2,583 IR = H17 0.63 — H19 0. 80 —
BiAE S49 s 2 1,864 1B = H17 0.17 0.52 H22 0.76 1.24
BIAE S54 s 1 379 1B = H26 0.39 1.20 H27 0.79 2.45
IZCOFHH#E EES H5 R 1 280 | #WE — — — — — —
E SN E EES H7 R 1 300 | #mtE — — — — — _
OO EGFE EES S63 R 1 181 it = — — — — — —
EXRHHE EE H 4 R 1 331 = — — — — — —
BEHHE B S$53 S 1 368 | IBME H26 0.53 1.78 H27 1.07 1.78
KEHE B S58 s 1 221 i — — — — — —
AL R EES S46 S 1 440 | 1BWE H17 1.39 5.59 — — _ SEOREERATE
EES S63 s 1 352 | FWE — — — — — —
EEAE—HHE Bk H6 S 1 837 | #HWE — — — — — —
EEAE_HNHR B S60 S 1 309 [ #FHWE — — — — — —
18 F 4 E B& H5 w 1 448 | FHE — — — — — —
NEHHE EES S54 S 1 47 B = H26 2.07 4.75 — — — ZHOERMRTE
H R4 #E EES H8 w 1 899 | #HWE — — — — — —
- EES S50 S 1 215 | BWE H24 0.34 1.36 H25 1.32 5.30
AR Ea H3 W 1 41 | HwmE | — — — — — —

X BEFHOSIIMAUEHEIFERERLET.
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